Pneumatic Muffler 3/8 NPT HDPE 70-90 UM 1 09220196 Pneumatic Muffler 3/8 NPT HDPE 70-90 UM 1 09220196
0-Ring 0.921 ID x 0.139 WD Viton 4 09220340 0-Ring 0.921 ID x 0.139 WD Viton 4 09220340
CAP SCR- M2.5 x 8 SKT HD SST 2 09221015 CAP SCR- M2.5 x 8 SKT HD SST 2 09221015
Viton 0-Ring, 0.614 ID x 0.070 WD 1 09902123 Viton O-Ring, 0.614 1D x 0.070 WD 1 09902123
Silicone Grease 5.3 oz. 1 09905147 Silicone Grease 5.3 oz. 1 09905147
Air Filter with Frame, 13 in. x 14 in. 1 N0777095 Air Filter with Frame, 13 in. x 14 in. 1 N0777095
SV40BI Exhaust Filter Kit 1 N8145005 SV40BI Exhaust Filter Kit 1 N8145005
Sample Line w/Fit for Meinhard Plus Nebulizer 1 N8145503 MP2 Santoprene Gray/Gray 1.30 mm Pkg. 12 1 N8145173
Instrument Filter (Right) 1 N8152136 MP2 PVC Flared 0.51 mm Orange/Yellow Pkg. 12 1 N8145199
Plasma Light Shield 1 N8152377 Instrument Filter (Right) 1 N8152136
6 in. Gas Line 1 N8152385 Quartz Demountable Injector 2 mm 1 N8152376
Orange/Yellow Pure 0.51 mm ID Pkg. 12 1 N8152405 Plasma Light Shield 1 N8152377
Gray/Gray Santoprene 1.30 mm ID Pkg. 12 1 N8152415 Demountable Quartz Torch PVDF O-Ring Free 1 N8152379
Threaded Spray Chamber Drain Line 1 N8152456 Sample Intro Line for PFA-ST Nebulizer 1 N8152455
Instrument Filter — Back 1 N8152465 Threaded Spray Chamber Drain Line 1 N8152456
Fixed 2.0 mm Injector Quartz Torch Blue 1 N8152472 Instrument Filter — Back 1 N8152465
Torch O-Ring Viton 2.8 mm 2 N8152476 Torch O-Ring Viton 2.8 mm 2 N8152476
O-Ring 1/4 in. ID x 1/16 w/PTFE 2 W1024319 PFA Nebulizer Gas Line for PFA-ST Nebulizer 1 N8152561
Nickel Skimmer Cone 1 W1026356 O-Ring 1/4in. ID x 1/16 w/PTFE 2 W1024319
Nickel Sampler Cone 1 W1033612 Nickel Skimmer Cone 1 W1026356
HyperSkimmer Cone 1 W1033995 Nickel Sampler Cone 1 W1033612
Gasket Sampler 1 W1040148 HyperSkimmer Cone 1 W1033995
0-Ring 7/32 in. ID x 3/32 in. WD Viton 1 WE006495 Gasket Sampler 1 W1040148
0-Ring 7/32 in. ID x 3/32 in. WD Viton 1 WE006495
Pneumatic Muffler 3/8 NPT HDPE 70-90 UM 1 09220196
0-Ring 0.921 ID x 0.139 WD Viton 4 09220340 Pneumatic Muffler 3/8 NPT HDPE 70-90 UM 1 09220196
CAP SCR- M2.5 x 8 SKT HD SST 2 09221015 0-Ring 0.921 ID x 0.139 WD Viton 4 09220340
Viton O-Ring, 0.614 ID x 0.070 WD 1 09902123 CAP SCR- M2.5 x 8 SKT HD SST 2 09221015
Silicone Grease 5.3 oz. 1 09905147 Viton O-Ring, 0.614 1D x 0.070 WD 1 09902123
Air Filter with Frame, 13 in. x 14 in. 1 N0777095 Silicone Grease 5.3 oz. 1 09905147
SV40BI Exhaust Filter Kit 1 N8145005 Air Filter with Frame, 13 in. x 14 in. 1 NO0777095
Sample Line w/Fit for Meinhard Plus Nebulizer 1 N8145503 SV40BI Exhaust Filter Kit 1 N8145005
Instrument Filter (Right) 1 N8152136 Sample Line w/Fit for Meinhard Plus Nebulizer 1 N8145503
Plasma Light Shield 1 N8152377 Instrument Filter (Right) 1 N8152136
6 in. Gas Line 1 N8152385 Plasma Light Shield 1 N8152377
Orange/Yellow Pure 0.51 mm ID Pkg. 12 1 N8152405 6 in. Gas Nebulizer Line 1 N8152385
Gray/Gray Santoprene 1.30 mm ID Pkg. 12 1 N8152415 Orange/Yellow Pure 0.51 mm ID Pkg. 12 1 N8152405
Threaded Spray Chamber Drain Line 1 N8152456 Gray/Gray Santoprene 1.30 mm ID Pkg. 12 1 N8152415
Instrument Filter — Back 1 N8152465 Fixed 2.0 mm Injector UHP Quartz Torch 1 N8152428
Fixed 2.5 mm Injector Quartz Torch Green 1 N8152473 Threaded Spray Chamber Drain Line 1 N8152456
Torch O-Ring Viton 2.8 mm 2 N8152476 Instrument Filter — Back 1 N8152465
O-Ring 1/4in. 1D x 1/16 w/PTFE 2 W1024319 Torch O-Ring Viton 2.8 mm 2 N8152476
Nickel Skimmer Cone 1 W1026356 O-Ring 1/4 in. ID x 1/16 w/PTFE 2 W1024319
Nickel Sampler Cone 1 W1033612 Platinum Skimmer Cone 1 W1026907
HyperSkimmer Cone 1 W1033995 Platinum Sampler Cone 1 W1033614
Gasket Sampler 1 W1040148 HyperSkimmer Cone 1 W1033995
0-Ring 7/32 in. ID x 3/32 in. WD Viton 1 WE006495 Gasket Sampler 1 W1040148
0-Ring 7/32 in. ID x 3/32 in. WD Viton 1 WE006495

87



